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Sr.No 
Question 
Id Question Description Question Body Options 

Previous 
Correct 
Option 

New 
Correct 
Option 

1 12625 Q01_DGT_May19_ES3 
Which of the following spelling is 
correct?िनɻिलİखत मŐ से कौन सी ˙ेिलंग सही 
है? 

50493:Structure, 

50493   
50494:Structare, 
50495:Strature, 
50496:Stracture, 

2 20583 Q01_DGT_NOV18_ES3 
Which of the following spelling is 
correct? िनɻिलİखत मŐ से कौन सी वतŊनी सही है? 

82255:Electricity, 

82255   
82256:Electrecety, 

82257:Electrecity, 
82258:Electricety, 

3 12626 Q02_DGT_May19_ES3_M 
What is the silent letter in 
"christmas"? "Christmas" मŐ मूक अƗर कौन 
सा है? 

50497:c , 

50499   
50498:m , 

50499:t , 
50500:a , 

4 20584 Q02_DGT_NOV18_ES3_M 
What is the silent letter in 
"column"? "Column" मŐ मूक अƗर कौन सा 
है? 

82259:c, 

82261   
82260:m, 

82261:n, 

82262:l, 

5 12627 Q03_DGT_May19_ES3_M 
What is the past tense form of 
''kill''? ''Kill'' शɨ का भूतकाल ŝप Ɛा होता 
है? 

50501:Killed , 

50501   
50502:Killing , 

50503:Killen , 
50504:Kills , 

6 20585 Q03_DGT_NOV18_ES3_M 
What is the past tense form of 
''Eat''? ''Eat'' शɨ का भूतकाल ŝप Ɛा होता 
है? 

82263:Ate, 

82263   
82264:Eaten, 

82265:Eating, 
82266:Aten, 
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7 12628 Q04_DGT_May19_ES3 
Communication skills include(s):- संचार 
कौशल मŐ सİʃिलत हœ:- 

50505:Listening / सुनना, 

50508   
50506:Friendliness / िमũता, 

50507:Confidence / आȏिवʷास, 

50508:All of these / सभी िवकʙ, 

8 20586 Q04_DGT_NOV18_ES3 
What type of letter is the wedding 
invitation letter? शादी का िनमंũण पũ िकस 
Ůकार का पũ है? 

82267:Social letter / सामािजक पũ, 

82267   

82268:Order letter / आदेश पũ, 

82269:Official letter / कायाŊलयीन पũ, 

82270:Complaint letter / िशकायती 
पũ, 

9 12629 Q05_DGT_May19_ES3_M 
What does 'T' stands for in SWOT 
analysis? SWOT िवʶेषण मŐ 'T' से Ɛा 
अिभŮाय है? 

50509:Threats / Ūेअट्स , 

50509   
50510:Team / टीम , 

50511:Trouble / टŌ बल , 

50512:Twist / िǩː , 

10 20587 Q05_DGT_NOV18_ES3_M 
What does 'W' stands for in SWOT 
analysis? SWOT िवʶेषण मŐ, 'W' से Ɛा 
अिभŮाय है? 

82271:Weakness / वीकनेस, 

82271   
82272:Work / वकŊ , 

82273:Workshop / वकŊ शॉप, 

82274:What / ʬाट, 

11 12630 Q06_DGT_May19_ES3 
Which of the following is not a 
vowel? िनɻिलİखत मŐ से कौन सा ˢर नही ंहै? 

50513:U, 

50516   
50514:E, 
50515:O, 

50516:K, 

12 20588 Q06_DGT_NOV18_ES3 
Which of the following is not a 
vowel? िनɻिलİखत मŐ से कौन सा ˢर नही ंहै? 

82275:a, 

82278   
82276:e, 
82277:i, 
82278:c, 
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13 12631 Q07_DGT_May19_ES3 
Which of the following is a immediate 
life saving procedure?िनɻ मŐ से कौन सी 
तǽाल जीवन रƗक ŮिŢया है? 

50517:First Aid / Ůाथिमक िचिकȖा , 

50517   

50518:Call a doctor / िचिकȖक को 
बुलाना , 

50519:Intensive care / गहन 
देखभाल, 

50520:Medical treatment / िचिकȖा 
उपचार, 

14 20589 Q07_DGT_NOV18_ES3 
A first aid box contains _________. एक 
Ůाथिमक िचिकȖा बॉƛ मŐ _________ होता है| 

82279:Tincture iodine / िटंचर 
आयोडीन, 

82282   82280:Burnol / बरनॉल, 

82281:Dettol / डेटॉल, 

82282:All of these / सभी िवकʙ, 

15 12632 Q08_DGT_May19_ES3_M 
Monitor is a _________ device. मोिनटर 
एक __________ उपकरण है| 

50521:output / आउटपुट , 

50521   
50522:input / इनपुट , 

50523:storage / ːोरेज , 

50524:memory / मेमोरी , 

16 20590 Q08_DGT_NOV18_ES3_M 
Printer is a/an _________ device. िŮंटर 
एक __________ उपकरण है| 

82283:Output / आउटपुट, 

82283   

82284:Input / इनपुट, 

82285:Storing / ːोįरंग, 

82286:None of these / इनमŐ से कोई 
भी नही,ं 

17 12633 Q09_DGT_May19_ES3_M 

Which of the following is shortcut key 
to print a file in MS excel? िनɻिलİखत मŐ से 
कौन सी ऍमएस एƛेल मŐ फाइल को िŮंट करने के 
िलए शॉटŊकट की होती है? 

50525:Ctlr+C , 

50527   
50526:Ctlr+V , 
50527:Ctlr+P , 
50528:Ctlr+Y , 
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18 20591 Q09_DGT_NOV18_ES3_M 

Which of the following is a shortcut key 
to print the file in MS word? एमएस वडŊ मŐ 
फ़ाइल को िŮंट करने के िलए िनɻ मŐ से कौन सा 
शॉटŊकट कंुजी है? 

82287:Ctlr+C, 

82289   
82288:Ctlr+V, 
82289:Ctlr+P, 

82290:Ctlr+X, 

19 12634 Q10_DGT_May19_ES3_M 
Which of the following is an operating 
system? िनɻिलİखत मŐ से कौन एक ऑपरेिटंग 
िसːम है? 

50529:Facebook / फेसबुक , 

50531   
50530:Twitter / िǩटर , 
50531:WindowsXP / िवंडोज एƛपी , 
50532:Gmail / जीमेल , 

20 20592 Q10_DGT_NOV18_ES3_M 
What does LAN stands for? LAN से Ɛा 
अिभŮाय है? 

82291:Long Area Network / लॉ̢ग 
एįरया नेटवकŊ , 

82293   

82292:Large Area Network / लाजŊ 
एįरया नेटवकŊ , 

82293:Local Area Network / लोकल 
एįरया नेटवकŊ , 

82294:None of these / इनमŐ से कोई 
भी नही,ं 

21 12635 Q11_DGT_May19_ES3 
Internet Explorer is a 
___________. इȴरनेट एƠोरर एक 
__________ है| 

50533:web browser / वेब Űाउज़र, 

50533   
50534:search engine / सचŊ इंजन, 

50535:antivirus / एंटीवायरस, 

50536:input device / इनपुट उपकरण , 

22 20593 Q11_DGT_NOV18_ES3 
Google chrome is a/an 
___________. गूगल Ţोम 
एक___________ है| 

82295:Web browser / वेब Űाउज़र, 

82295   

82296:Search engine / सचŊ इंजन, 

82297:Antivirus / एंटीवायरस, 

82298:None of these / इनमŐ से कोई 
भी नही,ं 
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23 12636 Q12_DGT_May19_ES3 
Which of the following is a memory 
device?िनɻिलİखत मŐ से कौन एक भǷारण 
उपकरण है? 

50537:Pendrive / पेनडŌ ाइव , 

50540   
50538:DVD / डीवीडी, 
50539:CD / सीडी, 
50540:All of these / सभी िवकʙ, 

24 20594 Q12_DGT_NOV18_ES3 
Which of the following is not an 
external memory? इनमŐ से कौन सा बा˨ 
मेमोरी नही ंहै? 

82299:Pendrive / पेनडŌ ाइव, 

82301   
82300:DVD / डीवीडी, 

82301:Joystick / जॉयİːक, 

82302:CD / सीडी, 

25 12637 Q13_DGT_May19_ES3 

The response of the person receiving 
the message is 
called____________. संदेश Ůाɑ करने वाले 
ʩİƅ की ŮितिŢया को____________कहा 
जाता है। 

50541:Medium / माȯम , 

50544   
50542:Decode / िवसंकेतन , 

50543:Message / सȽेश , 

50544:Feedback / Ůितपुिʼ, 

26 20595 Q13_DGT_NOV18_ES3 
What kind of communication is an e-
mail? ई-मेल िकस Ůकार का संचार है? 

82303:Verbal / मौİखक, 

82304   

82304:Written / िलİखत, 

82305:Non-verbal / अमौİखक, 

82306:None of these / इनमŐ से कोई 
भी नही,ं 

27 12638 Q14_DGT_May19_ES3 
Which of the following includes in 
tripple A listening? िनɻिलİखत मŐ से कौन 
िटŌ पल ए ŵवण मŐ शािमल है? 

50545:Attitude / मनोवृित , 

50548   
50546:Attention / ȯान , 

50547:Adjustment / समायोजन , 

50548:All of these / सभी िवकʙ, 
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28 20596 Q14_DGT_NOV18_ES3 
Which of the following is a barrier in 
listening process? िनɻिलİखत मŐ से कौन सा 
ŵवण ŮिŢया मŐ एक अवरोध है ? 

82307:Lack of interest in subject / 
िवषय मŐ अŜिच, 

82310   82308:Careless / लापरवाह, 

82309:Dozing / ऊँघना, 

82310:All of these / सभी िवकʙ, 

29 12639 Q15_DGT_May19_ES3 

Which of the following is most 
important as per second principle of 
communication?िनɻिलİखत मŐ से कौन संचार 
के िȪतीय िसȠांत के अनुसार सबसे महȕपूणŊ है? 

50549:Medium / माȯम , 

50549   
50550:Decode / िवसंकेतन , 

50551:Message / सȽेश , 

50552:Feedback / Ůितपुिʼ, 

30 20597 Q15_DGT_NOV18_ES3 
Which of the following is an element of 
communication?िनɻिलİखत मŐ से कौन सा 
संचार का एक तȕ है? 

82311:Message / संदेश, 

82314   

82312:Receiver / ŮाɑकताŊ, 

82313:Communication channel / 
संचार माȯम, 

82314:All of these / सभी िवकʙ, 

31 12640 Q16_DGT_May19_ES3_M 
Which of the following is a key to 
success? िनɻिलİखत मŐ से कौन सी सफलता की 
कंुजी है? 

50553:Discipline / अनुशासन , 

50553   

50554:Stupidity / अǒानता , 

50555:Negative attitude / नकाराȏक 
रवैया , 

50556:Laziness / आल˟ , 

32 20598 Q16_DGT_NOV18_ES3_M 
Motivation is mainly divided into _____ 
classes. अिभŮेरण को मुƥतः  _____ वगŘ मŐ 
िवभािजत िकया गया है | 

82315:2, 

82315   
82316:3, 
82317:4, 

82318:1, 
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33 12641 Q17_DGT_May19_ES3_M 

____________is a two-way process of 
personality 
testing.____________ʩİƅȕ परीƗण की 
एक िȪमागŎ ŮिŢया है| 

50557:Marrige / िववाह , 

50558   
50558:Interview / साƗाǽार , 

50559:Birth / जɉ , 

50560:Death / मृȑु , 

34 20599 Q17_DGT_NOV18_ES3_M 
Interview is _________ 
process. साƗाǽार __________ ŮिŢया है| 

82319:One way / एक-मागŎ, 

82320   
82320:Two way / िȪ-मागŎ, 

82321:Three way / िũ-मागŎ, 
82322:None of these / इनमŐ से कोई भी 
नही,ं 

35 12642 Q18_DGT_May19_ES3 

Which of the following reason is 
responsible for the failure of an 
entrepreneur?उȨमी की िवफलता के िलए 
िनɻिलİखत मŐ से कौन सा कारण िजʃेदार होता है? 

50561:Unskilled management / 
अकुशल Ůबंधन , 

50564   
50562:Shortage of raw material / 
कǄे माल की कमी , 

50563:Lack of finance / पँूजी की कमी , 

50564:All of these / सभी िवकʙ, 

36 20600 Q18_DGT_NOV18_ES3 
Which of the following is a quality of a 
good entrepreneur? इनमŐ से कौन सा एक 
अǅे उȨमी का गुण है? 

82323:Quality to take decision / िनणŊय 
लेने का गुण, 

82326   
82324:Hard work / कठोर पįरŵम, 

82325:Quality of leadership / नेतृȕ का 
गुण, 

82326:All of these / सभी िवकʙ, 

37 12643 Q19_DGT_May19_ES3_M What is SIDBI? SIDBI Ɛा है? 

50565:A board / एक बोडŊ , 

50568   
50566:A government scheme / एक 
सरकारी योजना , 

50567:A hotel / एक होटल , 

50568:A bank / एक बœक , 
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38 20601 Q19_DGT_NOV18_ES3 
In which year "Make in India" has 
started? "मेक इन इंिडया" िकस वषŊ मŐ शŝु 
Šआ? 

82327:2014, 

82327   
82328:2015, 
82329:2016, 
82330:2017, 

39 12644 Q20_DGT_May19_ES3 
What does' M' stands for in ATM? ATM 
मŐ 'M' से Ɛा अिभŮाय है? 

50569:Man / मैन , 

50571   50570:Money / मनी , 
50571:Machine / मशीन , 
50572:Material / मटेįरयल , 

40 20602 Q20_DGT_NOV18_ES3 
What does 'C' sands for in KYC? KYC मŐ, 
'C' से Ɛा अिभŮाय है? 

82331:Can / केन, 

82333   
82332:Car / कार, 

82333:Customer / कːमर, 

82334:Carpenter / कारपŐटर, 

41 12645 Q21_DGT_May19_ES3_M 
__________increases by the 
satisfaction of staff. कमŊचाįरयो ंके संतुʼ होने 
से __________बढती है| 

50573:Efficiency / दƗता , 

50575   

50574:Productivity / उȋादकता , 

50575:Both efficiency and 
productivity / दƗता और उȋादकता दोनो ं, 

50576:Loss / नुकसान , 

42 20603 Q21_DGT_NOV18_ES3_M 
________ increases by satisfaction of 
staff. कमŊचाįरयो ंके संतुʼ होने से ________ 
बढ़ती है| 

82335:Efficiency / दƗता, 

82337   

82336:Productivity / उȋादकता, 

82337:Both efficiency and 
productivity / दƗता और उȋादकता दोनो,ं 

82338:None of these / इनमŐ से कोई भी 
नही,ं 
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43 12646 Q22_DGT_May19_ES3 
Which part of the body is protected by 
gloves?शरीर का कौन सा िहˣा Ƹ̺स Ȫारा 
बचाया जाता है? 

50577:Hand / हाथ , 

50577   
50578:Leg / पैर , 

50579:Head / िसर , 

50580:Knee / घुटना, 

44 20604 Q22_DGT_NOV18_ES3 
Which part of the body can be 
protected by helmet? हेʝेट के Ȫारा शरीर 
के िकस अंग को सुरिƗत रखा जा सकता है? 

82339:Hand / हाथ, 

82341   
82340:Leg / पैर, 

82341:Head / िसर, 

82342:Knee / घुटना, 

45 12647 Q23_DGT_May19_ES3 
Sunlight is a _______ resource. सूयŊ का 
Ůकाश एक_______संसाधन है| 

50581:renewable / अƗय, 

50581   
50582:non-renewable / गैर-अƗय, 
50583:finite / पįरिमत, 
50584:harmful / नुकसानदेह, 

46 20605 Q23_DGT_NOV18_ES3 
Which of the following gas is not 
responsible for pollution?िनɻिलİखत मŐ से 
कौन सी गैस Ůदूषण के िलए उȅरदायी नही ंहै? 

82343:Methane / मीथेन, 

82344   

82344:Oxygen / ऑƛीजन, 
82345:Sulphur dioxide / सʚर 
डाइऑƛाइड, 

82346:Nitrogen dioxide / नाइटŌ ोजन 
डाइऑƛाइड, 

47 12648 Q24_DGT_May19_ES3 
Which of the following is an advantage 
of TPM? िनɻिलİखत मŐ से कौन सा टीपीएम का 
लाभ है? 

50585:Reduces maintenance cost / 
अनुरƗण लागत कम कर देता है, 

50588   

50586:Reduce accidents / दुघŊटनाओ ंको 
कम कर देता है , 

50587:Produces goods without 
reducing product quality / उȋाद की 
गुणवȅा को कम िकए िबना वˑुओ ंका उȋादन 
करता है।, 

50588:All of these / सभी िवकʙ, 
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48 20606 Q24_DGT_NOV18_ES3_M 

Which quality management program is 
related to the maintenance of plants 
and equipments? कौन सा गुणवȅा Ůबंधन 
कायŊŢम संयंũो और उपकरणो ंके अनुरƗण से 
सɾंिधत है? 

82347:Environmental management 
system / एनवायनŊमŐटल मैनेजमŐट िसːम, 

82349   

82348:Fault tree analysis / फाʐ टŌ ी 
एनािलिसस, 

82349:Total productive maintenance 
/ टोटल Ůोडİƃव मŐटेनŐस, 

82350:None of these / इनमŐ से कोई भी 
नही,ं 

49 12649 Q25_DGT_May19_ES3_M 
Minimum wage act is related 
to________. Ɋूतम मजदूरी 
अिधिनयम________ से संबंिधत है। 

50589:safety measures / सुरƗा उपायो ं, 

50591   

50590:insurance deduction / बीमा 
कटौती , 
50591:minimum wages / Ɋूनतम मजदूरी 
, 

50592:strike and work down / हड़ताल 
और कामबंदी , 

50 20607 Q25_DGT_NOV18_ES3_M 
When was the ESI Act enacted? ईएसआई 
अिधिनयम कब अिधिनयिमत िकया गया था? 

82351:1948, 

82351   
82352:1951, 
82353:1958, 
82354:1961, 

 


